
106. • • A Three-Way Lightbulb A three-way lightbulb has two fil-
aments with resistances R1 and R2 connected in series. The re-
sistors are connected to three terminals, as indicated in Figure 
21-49, and the light switch determines which two of the three 
terminals are connected to a potential difference of 120 Vat any 
given time. When terminals A and Bare connected to 120 V the 
bulb uses 75.0 W of power. When terminals A and C are con-
nected to 120 V the bulb uses 50.0 W of power. (a) What is the re-
sistance R1? (b) What is the resistance R2? (c) How much power 
does the bulb use when 120 Vis connected to terminals Band C? 

----------A 

---------B 

'---------c 
.A. FIGURE 21-49 Problem 106 
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